
What I s  a Termite's Favorite Breakfast? 
' For each pair of similar figures, find thelength x. Cross out the letter next to your I 

answer. When you finish,-the answer to thetitle question will remain. \/,-.) i.-1'-. :ic I 
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A flagools casts a shadow 10 i t  !ox. @ A photograph is 25 cm wide and 20 
If a rn?n 6 i t  tall casts a shadow 4f t  cm high. It must be reduced to fit a 
long at t h ?  same time oi day, how tall space that is 8 cm high. Find the width 
IS tiis flagpole? of the reduced photograph. 


